
÷ 100 = 5.09 + 4

4097 − 897 = × 1000

1000 × = 15 576 − 8976

910 ÷ 10 = 10 ×

84.1 + 3 = ÷ 10

÷ 100 = 0.07 + 3

9311 − 4711 = 1000 ×

100 × = 762 − 112

Multiplication and Division 
Balancing Equations
Calculate the missing number in each equation.
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Multiplication and Division 
Balancing Equations Answers

909 ÷ 100 = 5.09 + 4

4097 − 897 = 3.2 × 1000

1000 × 6.6 = 15 576 − 8976

910 ÷ 10 = 10 × 9.1

84.1 + 3 = 871 ÷ 10

307 ÷ 100 = 0.07 + 3

9311 − 4711 = 1000 × 4.6

100 × 6.5 = 762 − 112
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12 × 7 = × 4

× 13 = 104 − 78

62 + 70 = × 22

141 + 51 = 24 ×

270 ÷ = 540 ÷ 6

40 ÷ 2 = 120 ÷

300 ÷ 6 = 200 ÷

180 ÷ = 120 ÷ 4

Multiplication and Division 
Balancing Equations
Calculate the missing number in each equation.
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Multiplication and Division 
Balancing Equations Answers

12 × 7 = 21 × 4

2 × 13 = 104 − 78

62 + 70 = 6 × 22

141 + 51 = 24 × 8

270 ÷ 3 = 540 ÷ 6

40 ÷ 2 = 120 ÷ 6

300 ÷ 6 = 200 ÷ 4

180 ÷ 6 = 120 ÷ 4
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Multiplication and Division 
Balancing Equations
Calculate the missing number in each equation.

× 2 = 9.2 + 9

22.2 − 8 = × 7.1

9.3 × = 49.5 − 3

10.5 + 9 = 6.5 ×

9.5 − 9 = ÷ 3

÷ 4 = 5.8 − 5

8.5 − 8 = 4.5 ÷

1.2 ÷ = 5.4 − 5
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Multiplication and Division 
Balancing Equations Answers

9.1 × 2 = 9.2 + 9

22.2 − 8 = 2 × 7.1

9.3 × 5 = 49.5 − 3

10.5 + 9 = 6.5 × 3

9.5 − 9 = 1.5 ÷ 3

3.2 ÷ 4 = 5.8 − 5

8.5 − 8 = 4.5 ÷ 9

1.2 ÷ 3 = 5.4 − 5
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